QUESTION 1
1. Choose either an internal or external factor from the competitive forces model for an organization you are familiar with. Explain how it can be used to address how much should be invested on an IT infrastructure.

Your response should be at least 75 words in length.
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33.5 points   
QUESTION 2
1. Identify the primary differences between Wi-Fi and WiMax. 

Your response should be at least 75 words in length.
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33.5 points   
QUESTION 3
1. Explain the concept of on-demand computing. Please provide an example. 

Your response should be at least 75 words in length.
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